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1 library(readxl)
> library(dplyr)
data <- read_excel("outdata202106_hz_quarterly.xlsx")
s #HTREMAELERM . AHEFR. AR HEAANMHENR. R
BRH, REMTHAEGRA, ETHATERTAAILE

i=4

CMTS <- data %>%
6 select(q_dates_data, logrealGDP_va, CPI,R7dRepo, logM2)
h>%
7 filter(q_dates_data >= 1999.75 & q_dates_data <=2019.75)
¢ CMTS_diff <- tibble(
9 logGDP_diff = diff (CMTS$logrealGDP_va, lag = 1),
10 CPI_diff

diff (CMTS$CPI, lag = 1),
11 r7d_diff

diff (CMTS$R7dRepo,lag = 1)

)
s #& T At A 3B
i for(i inm 2:4){
5 TS <- ts(CMTS[i], start=1999.75, end=2019.75, frequency=4)

s plot(TS)

}
s #E T = £ A 55 B
v for(i im 1:3){
20 TS <- ts(CMTS_diff[i], start=2000.00, end=2019.75,



frequency=4)
21 plot (TS)
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1 library(vars)
diff CMTS <- tibble(
diff_logGDP

diff (CMTS$logrealGDP_va, lag = 1),

. diff_logCPI = diff(log(CMTS$CPI), lag = 1),
R7dRepo=CMTS$R7dRepo [-1]

6 )
VAR1 <- VAR(diff_CMTS, p=1, type='const')

s VAR2 <- VAR(diff_CMTS, p=2, type='const')

9 VAR3 <- VAR(diff_CMTS, p=4, type='const')

1 coef <- tribble(

~"p", ~"diff_logGDP.11",~"diff_logCPI.11",
s # / /
s "1, 0.012381728, 0.261548408,
s "2" , 0.021701371, 0.278758500),
© "4" , 0.034865028, 0.312024954,

7o)
s knitr::kable(coef,digits = 4,

v caption = "R7dRepo ¥ f£ f& it & % ")

It AT REAHA T R A

p | AlogGDP;_; | AlogCPI;4
1 0.0124 0.2615
2 0.0217 0.2788
4 0.0349 0.3120

(o) MRHE AIC HEW, FiF IS BrEUv 1 B

(TN
1 VARselect (diff_CMTS, type = "const")



(d) =FphtasaiaalanE 2, |3, B4 B,
AT

1 plot(irf (VAR1))
plot (irf (VAR2))
plot (irf (VAR3))
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i fel = fevd(VAR1, n.ahead=36)

» fel$diff_ logGDP[c(4,8,12,36),]
fel$diff_logCPI[c(4,8,12,36),]

+ fel$R7dRepo[c(4,8,12,36),]
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diff_CMTS_4 <- tibble(
diff _logGDP = diff (CMTS$logrealGDP_va, lag = 1),
" diff_logCPI = diff (log(CMTS$CPI), lag = 1),
R7dRepo=CMTS$R7dRepo [-1],
6 diff_logM2 = diff (CMTS$logM2, lag = 1)
)
s VARselect (diff _CMTS_4 ,type="const")
o ##EHSC RV A REAY, R 4 B ERAFEXBER, HENHE
1 M.
0 VARgl <- VAR(diff_CMTS_4, p=1, type='const')
1 plot(irf (VARgl))
» fevdl <- fevd(VARgl, n.ahead=36)
5 fevdl$diff_ logGDP[c(4,8,12,36),]
1w fevdl$diff_logCPI[c(4,8,12,36),]
5 fevdl$R7dRepo[c(4,8,12,36),]
s fevdl$diff_ logM2[c(4,8,12,36),]
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Orthogonal Impuise Response from diff_logGDP Orthogonal Impuise Response from diff_logCP1

95% Bootstrap C1, 100 runs 95 % Bootstrap CI, 100 runs.

Orthogonal Impuise Response from R7dRepo.

95 % Bootstrap CI, 100 runs
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‘Orthogonal Impuise Response from diff_logGDP.

95 % Boolstiap CI, 100 runs
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diff_logGDP
0.8765121
0.8042645
0.7953345
0.7949253

95% Bootstrap C1, 100 runs

Orthogonal Impuise Response from R7dRepo.
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Orthogonal Impuise Response from diff_logCP1
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95 % Bootsirap CI, 100 runs.

95 % Bootstiap CI, 100 runs

P 4: VARS filiif 4521

diff_logcrr R7dRepo
0.02116362 0.1023243 [1.] 0.1745420
0.05619225 0.1395433 [z.1 0.1806342
0.06222088 0.1422446 [3.] 0.1803897
0.06273450 0.1423402 [4, 0.1804251

diff_logcDp diff_logcpPI

0.8203681
0.8110138
0.8099305
0.8097386

R7dRepo diff_logeop diff_logcpI

0.005089906 [1.] 0.02631053 0.2178152
0.008351965 [2.] 0.06055606 0.2645216
0.009679821 [3,] 0.06650023 0.2689545
0.009836354 [4,] 0.06703845 0.2692269

B 5: p = 11,j = 4,8,12, 36 BIRUHIN T2




#M2 f£ AT
diff_CMTS_44 <- tibble(
diff_logGDP = diff (CMTS$logrealGDP_va, lag
diff_logCPI = diff (log(CMTS$CPI), lag = 1),
diff_logM2 = diff (CMTS$logM2, lag = 1),
R7dRepo=CMTS$R7dRepo [-1]
)
VARg2 <- VAR(diff_ CMTS_44, p=1, type='const')
plot (irf (VARg2))
fevd2 <- fevd(VARg2, n.ahead=36)
fevd2$diff_logGDP[c(4,8,12,36),]
fevd2$diff_logCPI[c(4,8,12,36),]
fevd2$diff_logM2[c(4,8,12,36),]
fevd2$R7dRepo[c(4,8,12,36),]

1),
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95 % Bootstrap CI, 100 runs.
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Orthogonal Impuise Response from diff_logCP1

95 % Bootstrap Cl, 100 runs.

Orthogonal Impuise Response from R7dRepo

95 % Bootstrap CI, 100 ns.
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[ 7: VARg2 fiiiH45 4.
> ‘FeVd1$d1ff_1OQGDI?[C(4-3-12,35),] . > fevd2sdiff_logepP[c(4,8,12,36),]

diff_logGDP diff_logCPI R7dRepo diff_logu2 diff_logeop diff_logcPI diff_logw2 R7dRepo
[1,] 0.6812527 0.04061380 0.09788047 0.1802530 [1,] 0.6812527 0.04061380 0.2635229 0.01461054
[2,] 0.6157871 0.09004270 0.11344427 0.1807259 [2,] 0.6157871 0.09004270 0.2718032 0.02236699
[3,] 0.6124650 0.09356204 0.11410418 0.1798688 [3,] 0.6124650 0.09356204 0.2695952 0.02437775
[4,] 0.6120375 0.09355416 0.11413330 0.1802751 [4,] 0.6120375 0.09355416 0.2696769 0.02473145
> fevdl$diff_logcPI[c(4,8,12,36),] > fevd2$diff_logcPI[c(4,8,12,36),]

diff_logGDP diff_logCPI R7drRepo diff_logM2 diff_logeor diff_logcpr diff_logwz R7dRepo
[1,] 0.1430382  0.8341322 0.004969701 0.01785992 [1,] 0.1430382 0.8341322 0.01571381 0.007115809
[2,] 0.1413965 0.8076795 0.006067595 0.04485642 [2,] 0.1413965 0.8076795 0.04289532 0.008028690
[3,] 0.1412950 0.8061625 0.006209901 0.04633262 [3,] 0.1412950 0.8061625 0.04452492 0.008017603
[4,] 0.1413179 0.8061341 0.006211412 0.04633657 [4,] 0.1413179 0.8061341 0.04453098 0.008017009
> Tevdl$r7drepo[c(4,8,12,36),] > fevd23diff_logm2[c(4,8,12,36),]

diff_logeop diff_logcPI  R7dRepo  diff_TlogM2 diff_logGop diff_logcPI diff_logM2 R7dRepo
[1,] 0.02440645 0.2183479 0.7570023 0.0002433313 [1,] 0.01396174 0.1284694 0.85365618 0.001007131
[2,] 0.04772501 0.2612399 0.6809493 0.0100857899 [2,] 0.02989181 0.1645040 0.8024058 0.003198424
[3,] 0.05010339 0.2614093 0.6699586 0.0185287470 [3,] 0.03089649 0.1652974 0.8000667 0.003739409
[4,] 0.0501498% 0.2608091 0.6683819 0.0206591019 [4,] 0.03089333 0.1652581 0.8000407 0.003807888
> fevdl$diff_logM2[c(4,8,12,36),] > fevd2$rR7drepo[c(4,8,12,36),]

diff_logepP diff_logcPI r7drepo diff_logmz diff_logeor diff_logcPr diff_logv2  R7dRepo
[1,] 0.01396174 0.1284694 0.1442060 0.7133629 [1,] 0.02440645 0.2183479 0.11701580 0.6402298
[2,] 0.02989181 0.1645040 0.1413898 0.6642144 [2,] 0.04772501  0.2612399 0.09489772 0.5961374
[3,] 0.03089649 0.1652974 0.1411085 0.6626976 [3,] 0.05010339 0.2614093 0.09448926 0.5939981
[4,] 0.03089333 0.1652581 0.1410759 0.6627726 [4,] 0.05014989  0.2608091 0.09491702 0.5941240

K 8: p =11,j =4,8,12,36 HAWTRI 7 224> fiFk



